QS10-11FEBFDE

A=RE-A—TOHIBEYH B=R - TAY/HIFEH

[1:{iva K4 BRRAUL | RERAUL | HRRAUL | R—FR
1 B ma 90.00 60.00 30.00
2 |JI\AKREDER 63.00 45.00 18.00
3 HIE £& 33.60 30.00 3.60
4 |d1E BBE 31.10 25.00 6.10
5 KABRKER 26.10 20.00 6.10
6 B B 21.50 7.50 14.00
7 He X 20.15 11.75 8.40
8 jnao s 18.48 17.50 0.98
9 |[F #KER 17.10 15.00 2.10
10 |fH Bt 13.60 11.75 1.85
1 |&F BE 12.60 9.00 3.60
12 |SWUXKiEE 12.10 6.00 6.10
13 |EEE K 10.50 10.50
14 (chE —i@E 8.90 7.50 1.40
15 | KRE &KX 8.60 5.00 3.60
16 |®F HE 7.40 3.80 3.60
17 (B8 EK 7.10 4.60 2.50
18 |HO IRt 453 3.80 0.73
19 |MAAREFEAXER 4.20 2.10 2.10
20 (BH —EB 4.20 2.80 1.40
21 |Z5HE FOER 3.85 2.20 1.65
22 |AE (2 3.77 3.10 0.67
23 |B8H B®;XK 3.60 3.60
24 %8 HE 3.31 2.50 0.81
25 [iIJR ZRWE 3.07 2.40 0.67
26 |[KEF K 2.97 2.30 0.67
27 Wi &l 2.67 2.00 0.67
28 WA 257 1.90 0.67
29 | K78 #BR 2.50 2.50
30 |[{EAKREBE 2.10 2.10
31 BIEFEZAN 1.85 1.85
32 T 1A% 1.65 1.65
33 | E 1.40 1.40
34 [MLUFEH 1.20 1.20
3B |[EE I 0.98 0.98
35  |IFHE KH# 0.98 0.98
35 |ERAE 0.98 0.98
35 |fAIER IB{FE 0.98 0.98
39 (PR BEFHF 0.81 0.81
9 (B =E 0.81 0.81
39 (B ki 0.81 0.81
39 BiE B 0.81 0.81
39 | KT K& 0.81 0.81
44 (B B 0.73 0.73
45 [ #FHit 0.67 0.67
46 | =g FHH 0.64 0.64
47 |H#HL =12 0.61 0.61
47  |7BK BX 0.61 0.61
47 |HIE FORE 0.61 0.61
47  |FRR BB 0.61 0.61
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QS10-11FEBFDE

A=RE-A—TOHIBEYH B=R - TAY/HIFEH

:vd K BRIV | RBRAUL | HRRAU | B—FR
51 [l K& 0.59 0.59
52 |k £ 0.58 0.58
53 |EH BE 0.56 0.56
53  |#pH EtE 0.56 0.56
55  |Ihgy dmat 0.55 0.55
56 [/BIIl RS 0.53 053
56 |EE BF 0.53 053
56 | S 0.53 0.53
59 | ARNHE 051 0.51
60 |[EH i 0.50 0.50
61 |HKE—ER 0.48 0.48
61 |IUA KEh 0.48 0.48
63 |BER *E 0.46 0.46
63 |BHA B2 0.46 0.46
65 |¥EA E£Th 0.45 0.45
66 |E)I| FEA 0.43 0.43
66 [IRA KE 0.43 0.43
68 |BEIRIE—ED 0.42 0.42
69 [/NE KB 0.41 0.41
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